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' - 9.2 Taylor & Maclaurin Polynomials - P, A
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Find the Maclaurin Polynomials of order 4 for f(x) and use it to approximate f(0.25).
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Find the Taylor Polynomials of order 3 centered at the given points.
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8. Find the Taylor Polynomial of order 3 centered at 2 for f(x)=x"—2x" +3x+5 and show

‘ that it is an exact representation of f(x).
Fl=3x7=4n +3 f(a)=/2-5¥43 27
f"s ex -y [72) =12-% 2 ¢

F'" =+ & £ () = ¢

773 (N = f(2) +F(2)(w-3) *{‘I’/g)%,i_z 7“1{ /;)(%__’g_
KB™ = i+ 1(x -2) + ylx -2)* + (x,1)3 ,
e gt e Rt ) b g at Ax =l

XB—J»”J—jx +5 = /‘(ﬂ)
9. Find the Maclaurin Polynomial of order n for f(x)=1/(1—x). Then use it with n= 4 to
approximate each of the following.
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How’ does this example show you that the Maclaurin series can be exceedingly poor if x is far
from zero?
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